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Change1:

	Teststep
	ts_CheckClassmark3

	Reason for change
	In the test step ts_CheckClassmark3, checking for DTMEGPRSHighMultislotClass parameters are done against PICS pc_EGPRS_MultislotclassXX incorrectly, and this checking should be done agains PICS pc_DTM_EGPRS_MultislotclassXX.

	Summary of change
	1. Renamed the PICS pc_EGPRS_MultislotclassXX as pc_DTM_EGPRS_MultislotclassXX, where XX = 31, 32, 33, 36, 37, 38.

2. In the local tree lt_DTMEGPRSHighMultislotClass, PICS pc_EGPRS_MultislotclassXX are replaced with PICS pc_DTM_EGPRS_MultislotclassXX, where XX = 31, 32, 33, 36, 37, 38. 

	Source of change
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Renamed PICS:
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Change2:

	Teststep
	lt_G_ConfigTrafficChannel of tc_60_1 and tc_60_1a

	Reason for change
	In these testcases for TCH/H (with Hopping) configuration, TTCN is using timeslot 0 whereas the same timeslot is used to configure signalling channel too. The hopping channel frequency also includes the ARFCN of signalling channels, so at certain time interval there is a possibility that both signalling and traffic channel will have same ARFCN and timeslot. In this situation access burst will be received by both the TRX used for signalling and traffic channel.

As per 51.010-1, section 10.1.4, for signalling channel Timeslot number should be zero. To bring MS in the active state (U10), Timeslot N (Timeslot used for traffic channel) is arbitrarily chosen or PICS dependant.  Specification does not mention any value for N, but the value should be non-zero, otherwise there may be conflict between signalling channel and traffic channel.

	Summary of change
	tsc_G_TimeSlot is used instead of tsc_G_TS0 to configure the traffic channel for Sub Test 4 (TCH/H) in the local tree lt_G_ConfigTrafficChannel of tc_60_1 and 60_1a.

	Source of change
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Change3:

	Teststep
	ts_InitAssigmentCmd_HR

	Reason for change
	In these testcases for TCH/H (with Hopping) configuration, TTCN is using timeslot 0 whereas the same timeslot is used to configure signalling channel too. The hopping channel frequency also includes the ARFCN of signalling channels, so at certain time interval there is a possibility that both signalling and traffic channel will have same ARFCN and timeslot. In this situation access burst will be received by both the TRX used for signalling and traffic channel.

As per 51.010-1, section 10.1.4, for signalling channel Timeslot number should be zero. To bring MS in the active state (U10), Timeslot N (Timeslot used for traffic channel) is arbitrarily chosen or PICS dependant.  Specification does not mention any value for N, but the value should be non-zero, otherwise there may be conflict between signalling channel and traffic channel.

	Summary of change
	tsc_G_TimeSlot is used instead of tsc_G_TS0 in the test step ts_InitAssigmentCmd_HR.
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Change4:

	Teststep
	ts_G_HandoverCommandInitialise26_6_5_1_4

	Reason for change
	In these testcases for TCH/H (with Hopping) configuration, TTCN is using timeslot 0 whereas the same timeslot is used to configure signalling channel too. The hopping channel frequency also includes the ARFCN of signalling channels, so at certain time interval there is a possibility that both signalling and traffic channel will have same ARFCN and timeslot. In this situation access burst will be received by both the TRX used for signalling and traffic channel.

As per 51.010-1, section 10.1.4, for signalling channel Timeslot number should be zero. To bring MS in the active state (U10), Timeslot N (Timeslot used for traffic channel) is arbitrarily chosen or PICS dependant.  Specification does not mention any value for N, but the value should be non-zero, otherwise there may be conflict between signalling channel and traffic channel.

	Summary of change
	tsc_G_TimeSlot is used instead of tsc_G_TS0 in the test step  ts_G_HandoverCommandInitialise26_6_5_1_4.
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mi, tev_G_CeliinfoA ciphertade)
7 [(px_GEM_BandUnderTest=tsc_GSM_450Band_Test))
8 {ttv_GSM_HO_Cmd := c5_6_HandOverCrmd_FH(NT_TO_BIT(( 2 + BIT_TO_INT(tsc_G_TCH_H_Suba}), 5)({sc_G_TimeSiobtcy
_G_CellnfoA5C, tv_G_CellnfoAnce, tv_G_CellnfoAce BIT_TO_INT(cy_G_CellnioA bCCH_Fre), 16, tsc_G_HAN_0, tsc_G
HoRefDcv_G_PwiL_HO, c_G_SyncindOrmite_G_FreqLIstShorOmmi, c_G_FreqListomit,;_CellAlloGaMaS0HO_126F with 1
El, p_Chiorle,c_G_MullisioiAlloc_omt, c_G_FreqChSeq0mi, ¢_G_WabilzallocAlBand, c_G_ReTmaDIfOmi, c_G_TimingAdvo
mit, ttv_G_Cellinfocipherttade)
9 [(px_GEM_BandUnderTest=tsc_GaM_480Band_Test)]
10 (1tv_GSM_HO_Cmd := cs_G_HandOverome_FH(NT_TO_BIT(( 2 + BIT_TO_INT(sc_G_TCH_H_SubA, 5),{sc_0_TimeSiol tov
_G_CellnfoA5C, tv_G_CellnfoAnce, tv_G_CellnfoAce BIT_TO_INT(cy_G_CellnioA bCCH_Fre), 16, tsc_G_HN_0, tsc_G
HoRefDcv_G_PwiL_HO, c_G_SyncindOrmite_G_FreqLIstShoOmit c_G_FreqListomit,;_CellAlloGaHas0HO_126F with 1
El, p_Chiorle,c_G_MullisioiAlloc_omt, c_G_FreqChSeq0mi, ¢_G_WabilzallocAlBand, c_G_ReTmaDIfOmi, c_G_TimingAdvo
mit, ttv_G_Cellinocipherttade)
11 (px_GEM_BandUnderTest=tsc_GSW_PCS1900Band_Test)]
12 (tov_GSM_HO_Crmd = cs_G_HandOverCmd_FHONT_TO_BIT((2 + BIT_TO_INT(tsc_G_TCH_H_SubA), ), tov
_G_CellnfoASC, tv_G_CellinfoAnce, tv_G_CellnfoAce BIT_TO_INT(cy_G_CellnioA bCCH_Frer), 16, tsc_G_HN_, t5c_G
HoRefDcv_G_PwiL_HO, c_G_SyncindOrmite_G_FreqLIstShorOmmit c_G_FreqListomit,;_CellAlloc i1 300HO_512F_with_
El,p_ChMode,c_G_Wultisiotalloc_omit,c_G_FreaChSeqom, ¢_G_MobileAllacAllBand, c_G_RelTmaDIfom, ¢_G_TImingadvo
mi tev_G_CeliinfoA ciphertade)
13 [(PX_GEM_BandUnderTest=tsc_GaM_8508and_Test)] @sic R&-051950 51t
@
14 (ev_GSM_HO_Crmd = 65_6_HandOverCmd_FH(NT_TO_BIT((2 + BIT_TO_INT(1sc_6_TCH_H_Sub#), 5 sc_G_TimeSoi tev @sic R5-051950 sic
_G_CellnfAISC, tv_G_CellnfoAnce, tv_G_CellnfoAc, BIT_TO_INT(ey_G_CellnfoAhCCH_Frea), 16, st_6_HSN_D, fst_G @
HoRefD,cv_G_PwiLu_HO, c_G_SyncindOrmi ¢_G_FreqListShortOmit, ¢_G_FreqListomit, ¢_CelAllot GSMBS0HO_128F _with_
El,p_Chiode, ¢_G_Multisiotalloc_Ormit, _G_FreaChSeqom, c_G_MobileAllocallBand, ¢_G_ReMMmaDIfomt, ¢_G_ Timingady

Ormit, ev_G_Cellinfo.cipherifode)
15 [TRUE] [0} Inconclusive
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